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Volume of Composite Figures
Ms. Diggs needs to fill the store shelves with toy robots for the holiday season. 
How many boxes of robots can be placed on the shelves?

Volume of shelf one (green):

______ x ______ x ______  =  ________ ft3

Volume of robot package:

______ x ______ x ______  =  ________ ft3

a = ______

b = ______

Volume of shelf three (orange):

______ x ______ x ______  =  ________ ft3

Volume of shelf two (yellow):

______ x ______ x ______  =  ________ ft3

Volume of the display:

______ + ______ + ______  =  ________ ft3

Number of boxes that will fit in display:

_______________________________________

1 ft

4 ft

6 ft
6 ft

8 ft

4 ft

a
1 ft 1 ft

14 ft

b

4 ft



ANSWER KEY
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Volume of Composite Figures
Ms. Diggs needs to fill the store shelves with toy robots for the holiday season. 
How many boxes of robots can be placed on the shelves?

Volume of shelf one (green):

______ x ______ x ______  =  ________ ft3

Volume of robot package:

______ x ______ x ______  =  ________ ft3

a = ______

b = ______

Volume of shelf three (orange):

______ x ______ x ______  =  ________ ft3

Volume of shelf two (yellow):

______ x ______ x ______  =  ________ ft3

Volume of the display:

______ + ______ + ______  =  ________ ft3

Number of boxes that will fit in display:

_______________________________________

1 ft

4 ft

6 ft
6 ft

8 ft

4 ft

a
1 ft 1 ft

14 ft

b

4 ft

TL

1

4

4 4 6 96 2 4 6 48

4 4 8 128

96 48 128 272 272 ÷ 1 = 272

2

1 1 1


